
cg(k)
<latexit sha1_base64="RKgSSIz1Egsf1QJKntMMTYZUdcs="></latexit>

cp(k)
<latexit sha1_base64="VdJnrqXS3uJfiejV//nkYDBrCr0="></latexit>

⌦(k)
<latexit sha1_base64="lSNOgRTkIwoH5EGHW29Tqi0JG0c="></latexit>

k0
<latexit sha1_base64="UFZuH1cCMEvmf2UF24cG2Ua7SSQ="></latexit>

�k
<latexit sha1_base64="ijFaXILouGtvGUonSbUX0x+685c="></latexit> k

<latexit sha1_base64="LHoD/5sJQKlSMncK685/iXnXgek="></latexit>

�k
<latexit sha1_base64="ijFaXILouGtvGUonSbUX0x+685c="></latexit>

G(k)
<latexit sha1_base64="84I8esf0UlvJGobqxHsRERJW0h0="></latexit>

k1
<latexit sha1_base64="HEuxPpfISbiCnrEIbqDjcrhwOKo="></latexit>

k5
<latexit sha1_base64="rdnKXiwK8a3vTVrf1XbbEk5Kx9g="></latexit>


